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e |Infraestructura de red
* Tipos de redes
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Desempeno de Ia red /

Wired:

LAN

WAN

MAN
Internetwork
Wireless:
WPAN
WLAN
WMAN
WWAN

Example

Ethernet
[P routing
ATM
Internet

Bluetooth (IEEE 802.15.1)
WiFi (IEEE 802.11)
WiIMAX (IEEE 802.16)
3G phone

Range

1-2 kms
worldwide
2—50 kms
worldwide

10-30m
0.15-1.5 km
5-50 km
cell: 1—5

Bandwidth
(Mbps)

10-10,000
0.010-600
1-600
0.5-600

0.5-2
11-108
1.5-20
348—-14.4

Latency
(ms)

1-10
100-500
10
100-500

5-20
520
5-20
100-500



Capas conceptuales
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Layer n

Layer 2
Layer 1

Message sent Message received

— N

Sender Communication Recipient
medium
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Encapsulamiento
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Application-layer message
' 4

. Presentation header

ISession header
v \

Transport header

Network header
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Modelo ISO de OSI
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Message sent Message received

Layers » e ‘\

Application @) O
Presentation & &
Session é A
Transport l l
Network é é
Data link é l
Physical &—+4

Sender Communication Recipient
medium
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Capas de interredes

= =

Message
Layers

Application

protocols

-
l Internetwork
Transport l

Internetwork

Internetwork packets

Underlying
Network-specific packets network
protocols
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Ruteo en una WAN —

Hosts
or local
networks

Routers
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IPv6 en IPv4

IPv6 encapsulated in IPv4 packets

IPv4 network

N/

Encapsulators



1) Defina “protocolo” tanto

a) en el contexto de redes de computadoras como
b) en el contexto de programacion orientada a objetos.

2) Haga una comparacion entre un verdadero protocolo y las
reglas impuestas en la especificacion de la Tarea # 2.

a) ¢ Es posible convertirlas en un “protocolo”?

b) En caso afirmativo, jqué se necesitaria para lograrlo?
Justifique su respuesta.
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Procesos
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e Definicion
e En el contexto de los SO

* En el contexto de los SD

» Configuracion de clientes y servidores
 Virtualizacion

* Migracion de codigo
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Process A Process B

S1: Switch from user space

to kernel space S | | S3: Switch from kernel
[ | space to user space
Operating systen:\

Ny

S2: Switch context from
process A to process B
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User space

Kernel space

Thread state

m mmE

_— Thread

LWP executing a thread

Lightweight process
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Serwdores multlhllos

Dispatcher thread

Request coming in

\

Request dispatched

to a worker thread
/

A

from the network

oo

"

/ Server

— Worker thread

Operating system
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Serwdores multlhllos

Model

Characteristics

Threads

Parallelism, blocking system calls

Single-threaded process

No parallelism, blocking system calls

Finite-state machine

Parallelism, nonblocking system calls
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Program
degmm: | [ nterface A
- —Im—plementat}c_)n —of
__________ Interface A mimicking A on B
Hardware/software system A | | ____ Interface B~
Hardware/software system B
(a)

(b)
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Arqmtecturas de MVs
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Application
Tisss—

Library functions

Library

System calls

Operating system Bansial

instructions

Privileged
instructions ™™

Hardware
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Arqmtecturas de MVs

Application T

Runtime system

Operating system | |

Hardware

(@)
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Arqmtecturas de MVs
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Applications

Operating system
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Virtual machine monitor

Hardware

(b)



Lectura asomada
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 Mendel Rosenblum (VMware Inc.) y Tal
Garfinkel (Stanford University):

 \Virtual Machine Monitors: Current
Technology and Future Trends

e http://www.arion.csd.uwo.ca/courses/CS843a/p
apers/intro-vm.pdf
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